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3a) Aquinas’ Natural Law is a normative ethics that give a solution on what the right moral
action for us to take is. It is based on the idea that our purpose is to follow God’s Laws and
that our end goal is the beatific vision which is perfect union with God, and this can only be
fully achieved after death. Aquinas says we should ‘do good and avoid evil’. Aquinas’
Natuaral law is based on using our God given reasoning to know what the right course of
action is. Aquinas believed we use the reasoning in line with the five primary precepts
(preservation of life, reproduction, educate children, living in an ordered society and
worshiping God) and through these precepts we can use our reasoning to conclude on
secondary precepts. For example we can create the rule ‘do not steal as a secondary

precept as this upholds the primary precept of ‘living in an ordered society’.

Aquinas’ Natural Law can be applied to the issue of abortion. Abortion is the termination of
a life before it is born into the world. Firstly in relation to Natural Law, we would use our

God given reasoning to see that abortion breaks the primary precept of ‘preservation of
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life’. Within the scriptures of Roman Catholicism, this concludes that God is the one that
gives life and is the one that takes life away. So, human life is presious and a gift from God.
Therefore we can reason that a secondary prcept of ‘abortion is wrong’ is reasonable as this
upholds the primary precept of ‘preservation of life’. Moreover, abortion also breaks other
primary precepts such as ‘reproduction’ because an abortion is taking away a life and not

creating life.

Next, with reference to the virtues, we can realise that abortion is wrong as it goes against
the virtue of fortitude. When applying the virtue fortitude to the issue of abortion, one may
need the courage to face the uncomfortable truth that they are pregnant and come to
accept this rather than being ingnorant to this fact and resolving to the idea of abortion.

Therefore Natural Law would conclude that abortion is undeniabley wrong.

Finally, your intention (interior act) to abort a baby may be good as this may help out a
young lady in a troublesome position, however the act itself (exterior act) may be bad as
this ultimately breaks a primary precept (i.e. preservation of life). Because Natural Law
states that even if our intentions are good but the act itself is bad then ultimately the act is
immoral. Natural Law would say that abortion is an apparent good not a real good. Abortion

is a sin and is a result of poor reasoning.

Therefore, when applying Natural Law to the issue of abortion, we can conclude through

our God given reasoning that ‘abortion is wrong’ as a secondary precept as it isn’t a real
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good even if your intentions are good the act itself is immoral and ultimately, it breaks the

primary precept of ‘preservation of life’.

3b) Should Human Law always be based on Natural Law? Many might argue that it should
be, because Natural Law is objective and is based on the primary precepts given by God to
follow. Which is ultimately what we must do in order to achieve our end purpose (telos) of
the beatific vision (perfect union with God) whilst following the virtues and the idea of
human flourishing (eudiamonia) is also important within Natural Law too. However, | would
argue the opposite, Human Law should not be based on Natural Law. This is because not
everyone is religious, Natural Law is discrimitatory of both gender and sexual orientation
and Natural Law forces a sense of duty, rather than giving us the freedom to choose what

we do.

Firstly, it may seem that Human Law should always be based on Natural Law because it is
objective, independent to humans and so morals are either right or wrong not based on
opinion but based on objective moral law given by God through the five precept and our
God given reason to know what we can conclude as secondary precepts. And so, Human
Law should be based on Natural Law as this tells us what is objectively right or wrong and
should not be based on the whims of society. However, Human Law should not always be
based on Natural Law because not everyone is religious and for Natural Law to function you
need to believe in God otherwise the whole ethic becomes meaningless. So, the fact that

many people in the world are non-religious, Natural Law cannot be used when refering to
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Human Law. Human Law should be separate to religious ideas and should not be based on
primary precepts that are believed by a religious community to be given by God. Therefore,

Human Law should not always be based on Natural Law.

Additionally, one might argue that Human Law should always be based on Natural Law as it
gives us a simple guide to follow and promotes the well-being of humans through the
virtues and human-flourishing (eudiamonia). By using our God given reasoning we can easily
know what secondary precepts can be concluded when we see that they uphold the primary
precepts as given by God. So, the simplicity of this means that Human Law should always be
based on Natural Law. But, if you look further into Natural Law, | would argue that Human
Law should not always be based on Natural Law because, firstly it is discrimitory of gender
and sexual orientation. For example, Natural Law could conclude as a secondary precept
that being ‘homosexual is immoral’ because it breaks the primary precept of ‘reproduction’,
two men or two women cannot procreate and therefore is Human Law is based on Natural
Law, then this would make homosexuallity to be illigal, which is ultimately discrimitory. And
secondly, Natural Law forces a sense of duty upon onself. We are forced to have a duty to
live rather that the choice or freedom to live. And Natural Law gives priority to some lives
compared to others, for example a baby’s life is more important than that of a women.
Therefore, since Natural Law forces a sense of duty and prioritises some people over others

is is obvious that Human Law should not always be based on Natural Law as you should be
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able to have the freedom of choice and that everyone should be treated fairly. No one

should have priority over the other.

In conclusion, | would argue that Human Law should never be based on Natural Law
because as | have said, not everyone is religious, Natural Law is discrimitatory of both
gender and sexual orientation and Natural Law forces a sense of duty. | would argue that
Human Law should actually be based on the normative ethic of Utilitarianism as proposed
by Bentham and Mill, more specifically Mill’s Rule utilitarianism. This is because it is
consequentialist and so looks at the consequenses on an act to decide whether is is right or
wrong and uses the principle of utility ‘tho do the most good for the most amount of
people’ in order to know the right course of action. An Mill’s Rule utilitarianim solves the
issue of utilitarian is of allowing heinous acts with this idea of the ‘harm principle’ that says
that if an act causes harm even if it benefits the majority, the it should not be acted out.

Therefore, Human Law should instead always be based on Mill’s Rule Utilitarianism.
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Edugas A Level Generic Band Descriptors

Band

Assessment Objective AO1 — Part (a) questions 20 marks
Demonstrate knowledge and understanding of religion and belief, including:
religious, philosophical and/or ethical thought and teaching
influence of beliefs, teachings and practices on individuals, communities and societies
cause and significance of similarities and differences in belief, teaching and practice
approaches to the study of religion and belief.

17-20 marks
Thorough, accurate and relevant knowledge and understanding of religion and belief.
An extensive and relevant response which answers the specific demands of the question set.
The response demonstrates extensive depth and/or breadth. Excellent use of evidence and
examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where appropriate.
Insightful connections are made between the various approaches studied.
An extensive range of views of scholars/schools of thought used accurately and effectively.
Thorough and accurate use of specialist language and vocabulary in context.

13-16 marks
Accurate and relevant knowledge and understanding of religion and belief.
A detailed, relevant response which answers the specific demands of the question set.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Purposeful connections are made between the various approaches studied.
A range of scholarly views/schools of thought used largely accurately and effectively.
Accurate use of specialist language and vocabulary in context.

9-12 marks
Mainly accurate and relevant knowledge and understanding of religion and belief.
A satisfactory response, which generally answers the main demands of the question set.
The response demonstrates depth and/or breadth in some areas. Satisfactory use of evidence and
examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where appropriate.
Sensible connections made between the various approaches studied.
A basic range of scholarly views/schools of thought used.
Mainly accurate use of specialist language and vocabulary in context.

5-8 marks
Limited knowledge and understanding of religion and belief. Basic level of accuracy and relevance.
A basic response, addressing some of the demands of the question set.
The response demonstrates limited depth and/or breadth, including limited use of evidence and
examples.
Some accurate reference made to sacred texts and sources of wisdom, where appropriate.
Makes some basic connections between the various approaches studied.
A limited range of scholarly views/schools of thought used.
Some accurate use of specialist language and vocabulary in context.

N.B.

1-4 marks
Very limited knowledge and understanding of religion and belief. Low level of accuracy and
relevance.
A very limited response, with little attempt to address the question.
The response demonstrates very limited depth and/or breadth.Very limited use of evidence and
examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.
Little or no use of scholarly views/schools of thought.
Very few or no connections made between the various approaches studied.
Some grasp of basic specialist language and vocabulary.

A maximum of 2 marks should be awarded for a response that only demonstrates
‘knowledge in isolation'

No relevant information.
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Band

Assessment Objective AO2 - Part (b) questions 30 marks
Analyse and evaluate aspects of, and approaches to, religion and belief,
including their significance, influence and study.

25-30 marks
Confident critical analysis and perceptive evaluation of the issue.
A response that successfully identifies and thoroughly addresses the issues raised by the
question set.
Thorough, sustained and clear views are given, supported by extensive, detailed reasoning
and/or evidence.
The views of scholars/schools of thought are used extensively, appropriately and in context.
Confident and perceptive analysis of the nature of connections between the various elements of
the approaches studied.
Thorough and accurate use of specialist language and vocabulary in context.

e o o o o

19-24 marks
Purposeful analysis and effective evaluation of the issue.
The main issues raised by the question are identified successfully and addressed.
The views given are clearly supported by detailed reasoning and/or evidence.
Views of scholars/schools of thought are used appropriately and in context.
Purposeful analysis of the nature of connections between the various elements of the
approaches studied.
Accurate use of specialist language and vocabulary in context.

13-18 marks
Satisfactory analysis and relevant evaluation of the issue.
Most of the issues raised by the question are identified successfully and have generally been
addressed.
Most of the views given are satisfactorily supported by reasoning and/or evidence.
Views of scholars/schools of thought are generally used appropriately and in context.
Sensible analysis of the nature of connections between the various elements of the approaches
studied.
Mainly accurate use of specialist language and vocabulary in context.

7-12 marks
Some valid analysis and inconsistent evaluation of the issue.
A limited number of issues raised by the question set are identified and partially addressed.
A basic attempt to justify the views given, but they are only partially supported with reason
and/or evidence.
Basic use of the views of scholars / schools of thought appropriately and in context.
Makes some analysis of the nature of connections between the various elements of the
approaches studied.
Some mainly accurate use of specialist language and vocabulary in context.

e o o o o

1-6 marks
A basic analysis and limited evaluation of the issue.
An attempt has been made to identify and address the issues raised by the question set.
Little attempt to justify a view with reasoning or evidence.
Little or no use of the views of scholars/schools of thought.
Limited analysis of the nature of connections between the various elements of the approaches
studied.
Some use of basic specialist language and vocabulary.

No relevant analysis or evaluation.
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Section B

Apply Aquinas’ Natural Law to the issue of abortion.

[AO1 20]

Candidates could include some of the following, but other relevant
responses should be credited.

Natural Law states that a good action is one that fulfils the purpose of the
agent. Therefore, in order to apply Natural Law to ethical issues, it is
important to consider the purpose of a human being.

Aquinas claimed that the ultimate purpose of a human being was to
develop into the image of God and re-establish a right relationship with
God. This could only be done fully in heaven, but could be worked towards
while on Earth.

The purpose of human beings on Earth are expressed in the primary
precepts: preservation of life, living in an ordered society, worship God,
educate the young and reproduce. A good action works towards these
precepts.

When applying Natural Law it is necessary to decide whether an action
works to support the primary precepts (a real good) or whether it takes
humans away from their purpose (an apparent good.)

Abortion refers to the deliberate termination of a pregnancy, either for
medical or social reasons. ltis legal in the UK under the conditions of the
1967 Abortion Act.

Natural Law would condemn abortion as inherently evil as it involves the
direct killing of an innocent life, going against the primary precept of
preservation of life. This applies to all abortions, regardless of
circumstance.

Obviously, this position depends on holding the view that a foetus counts
as a person from the point of conception, which is a contested view.

Some may consider Kainz’ view that the precepts of order in society and
reproduction may support abortion in the case of rape or incest, as these
actions clearly go against the right to have children in a way that conforms
to social norms and may take away the right to make decisions about
reproduction.

He also points out that there may be two innocent lives at stake in the case
of abortion, and that proponents of natural law often make exceptions to
the first precept in the case of the foetus in order to preserve the life of the
mother.

The only other exceptions to the rule regarding abortion come under the
principle of double effect. For example, it may be acceptable to perform a
hysterectomy on a pregnant woman suffering from cancer of the uterus.
The intention would be to save her life, the action may well save her life,
the known but unintended side effect would be the death of the foetus. This
is not the same as permitting abortion to save the life of the mother and
candidates should be clear about the distinction.

Candidates could include reference to the virtues in applying natural law —
Kainz points out that a mother who brings up a child after rape, or chooses
to continue with a problem pregnancy rather than aborting could be seen to
show fortitude: ‘such decisions would belong in the category of heroic
virtue.’

This is not a checklist, please remember to credit any valid alternatives.





(b)  ‘Human law should always be based on Natural Law.’

Evaluate this view. [AO2 30]

Candidates could include some of the following, but other relevant
responses should be credited.

e From a Natural Law perspective it could be argued that human law
should be based on natural law as this fits into the hierarchy of laws
established by Aquinas: human law should be derived from natural and
divine law in order to create a just society that seeks good and avoids
evil.

e As natural law is seen to derive from God’s eternal law, and is seen as
universal, it would form a clear and objective basis for human law.

e Natural Law theory is deontological — it judges the morality of the action
itself rather than the consequence — and this makes it a good basis for
human law as our laws need to clearly indicate which actions are
permissible and which are not.

¢ However, many would argue that, in a modern, secular society, laws
should be based on human reason rather than the eternal law of a
Creator God. They would question the basis of Natural Law and argue
that any perceived order and purpose in the universe is an assumption
made by believers rather than a scientific fact.

e Candidates could consider different presentations of Natural Law here
in order to counter this objection. Aristotle’s contribution to natural law
thinking does not require belief in the Christian God and Finnis’ version
of Natural Law shows that, while the theory is compatible with religious
faith, it does not require belief in a God in order to make moral
decisions; human reason is sufficient.

e In fact, Finnis argues that ‘the best description of natural law is that is
provides a hame for the point of intersection between law and morals.’
Suggesting that basing human law on natural law is a sensible thing to
do.

e It could be argued that human law is already based on natural law as
many of our key legal prohibitions such as murder and theft are also
condemned by natural law, and many of the principles in the Universal
Declaration of Human Rights, such as the right to life, to education, to
freedom of religion are supported by natural law.

¢ However, candidates could point to examples in which a Natural Law
approach seems to undermine certain human rights. For example, in
the case of abortion, the rights of the unborn foetus are often prioritised
by Natural Law thinkers over the rights of the mother. Scholars from
within the Roman Catholic tradition, such as Kainz, have found this
approach problematic.

e Candidates may also argue that basing human law on natural law could
lead to inequality and persecution of minorities. For example, the
Natural Law approach to homosexuality could be seen as discriminatory
and to base human law on these principles could well be seen as a
retrograde step when it comes to equalities legislation. Even modern
presentations of Natural Law such as Finnis’ version would not support
the legalisation of same-sex marriage.

Overall, candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised.
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3a) Aquinas’ Natural Law is a normative ethics that give a solution on what the right moral
action for us to take is. It is based on the idea that our purpose is to follow God’s Laws and
that our end goal is the beatific vision which is perfect union with God, and this can only be
fully achieved after death. Aquinas says we should ‘do good and avoid evil’. Aquinas’
Natuaral law is based on using our God given reasoning to know what the right course of
action is. Aquinas believed we use the reasoning in line with the five primary precepts
(preservation of life, reproduction, educate children, living in an ordered society and
worshiping God) and through these precepts we can use our reasoning to conclude on
secondary precepts. For example we can create the rule ‘do not steal as a secondary

precept as this upholds the primary precept of ‘living in an ordered society’.

Aquinas’ Natural Law can be applied to the issue of abortion. Abortion is the termination of
a life before it is born into the world. Firstly in relation to Natural Law, we would use our

God given reasoning to see that abortion breaks the primary precept of ‘preservation of
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Sticky Note

A reasonable and accurate outline of Aquinas' Natural law to introduce the essay. 





life’. Within the scriptures of Roman Catholicism, this concludes that God is the one that
gives life and is the one that takes life away. So, human life is presious and a gift from God.
Therefore we can reason that a secondary prcept of ‘abortion is wrong’ is reasonable as this
upholds the primary precept of ‘preservation of life’. Moreover, abortion also breaks other
primary precepts such as ‘reproduction’ because an abortion is taking away a life and not

creating life.

Next, with reference to the virtues, we can realise that abortion is wrong as it goes against
the virtue of fortitude. When applying the virtue fortitude to the issue of abortion, one may
need the courage to face the uncomfortable truth that they are pregnant and come to
accept this rather than being ingnorant to this fact and resolving to the idea of abortion.

Therefore Natural Law would conclude that abortion is undeniabley wrong.

Finally, your intention (interior act) to abort a baby may be good as this may help out a
young lady in a troublesome position, however the act itself (exterior act) may be bad as
this ultimately breaks a primary precept (i.e. preservation of life). Because Natural Law
states that even if our intentions are good but the act itself is bad then ultimately the act is
immoral. Natural Law would say that abortion is an apparent good not a real good. Abortion

is a sin and is a result of poor reasoning.

Therefore, when applying Natural Law to the issue of abortion, we can conclude through

our God given reasoning that ‘abortion is wrong’ as a secondary precept as it isn’t a real
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Sticky Note

Reasoning given using Natural Law, regarding abortion.



 

Sticky Note

Further precepts used from within Natural Law. It would be good here to refer to secondary precepts to develop the response further. 



 

Sticky Note

An attempt to use the virtues. Some understanding shown of the meaning of fortitude and one way in which it could be used to help one make a moral decision. 



 

Sticky Note

Some understanding of interior and exterior acts along with reference to real and apparent good. 





good even if your intentions are good the act itself is immoral and ultimately, it breaks the

primary precept of ‘preservation of life’.

3b) Should Human Law always be based on Natural Law? Many might argue that it should
be, because Natural Law is objective and is based on the primary precepts given by God to
follow. Which is ultimately what we must do in order to achieve our end purpose (telos) of
the beatific vision (perfect union with God) whilst following the virtues and the idea of
human flourishing (eudiamonia) is also important within Natural Law too. However, | would
argue the opposite, Human Law should not be based on Natural Law. This is because not
everyone is religious, Natural Law is discrimitatory of both gender and sexual orientation
and Natural Law forces a sense of duty, rather than giving us the freedom to choose what

we do.

Firstly, it may seem that Human Law should always be based on Natural Law because it is
objective, independent to humans and so morals are either right or wrong not based on
opinion but based on objective moral law given by God through the five precept and our
God given reason to know what we can conclude as secondary precepts. And so, Human
Law should be based on Natural Law as this tells us what is objectively right or wrong and
should not be based on the whims of society. However, Human Law should not always be
based on Natural Law because not everyone is religious and for Natural Law to function you
need to believe in God otherwise the whole ethic becomes meaningless. So, the fact that

many people in the world are non-religious, Natural Law cannot be used when refering to
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Sticky Note

This response was largely accurate and relevant  and answers the specific demands of the question set. Band 4 - 15 marks.



 

Sticky Note

This opening statement begins with some initial evaluation and awareness of arguments on both sides. 





Human Law. Human Law should be separate to religious ideas and should not be based on
primary precepts that are believed by a religious community to be given by God. Therefore,

Human Law should not always be based on Natural Law.

Additionally, one might argue that Human Law should always be based on Natural Law as it
gives us a simple guide to follow and promotes the well-being of humans through the
virtues and human-flourishing (eudiamonia). By using our God given reasoning we can easily
know what secondary precepts can be concluded when we see that they uphold the primary
precepts as given by God. So, the simplicity of this means that Human Law should always be
based on Natural Law. But, if you look further into Natural Law, | would argue that Human
Law should not always be based on Natural Law because, firstly it is discrimitory of gender
and sexual orientation. For example, Natural Law could conclude as a secondary precept
that being ‘homosexual is immoral’ because it breaks the primary precept of ‘reproduction’,
two men or two women cannot procreate and therefore is Human Law is based on Natural
Law, then this would make homosexuallity to be illigal, which is ultimately discrimitory. And
secondly, Natural Law forces a sense of duty upon onself. We are forced to have a duty to
live rather that the choice or freedom to live. And Natural Law gives priority to some lives
compared to others, for example a baby’s life is more important than that of a women.
Therefore, since Natural Law forces a sense of duty and prioritises some people over others

is is obvious that Human Law should not always be based on Natural Law as you should be
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Sticky Note

This paragraph is well structured and states some reasons on both sides of the argument with a decision made. 





able to have the freedom of choice and that everyone should be treated fairly. No one

should have priority over the other.

In conclusion, | would argue that Human Law should never be based on Natural Law
because as | have said, not everyone is religious, Natural Law is discrimitatory of both
gender and sexual orientation and Natural Law forces a sense of duty. | would argue that
Human Law should actually be based on the normative ethic of Utilitarianism as proposed
by Bentham and Mill, more specifically Mill’s Rule utilitarianism. This is because it is
consequentialist and so looks at the consequenses on an act to decide whether is is right or
wrong and uses the principle of utility ‘tho do the most good for the most amount of
people’ in order to know the right course of action. An Mill’s Rule utilitarianim solves the
issue of utilitarian is of allowing heinous acts with this idea of the ‘harm principle’ that says
that if an act causes harm even if it benefits the majority, the it should not be acted out.

Therefore, Human Law should instead always be based on Mill’s Rule Utilitarianism.
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Sticky Note

This is another well structured paragraph which gives some purposeful analysis and effective evaluation of the issues. 



 

Sticky Note

The concluding paragraph suggests reasons why an alternative ethic may be more appropriate. This is supported by reasoning and evidence. This response is purposeful and effective with some detailed reasoning given in places. Band 4 - 24 marks.






















Either,

n a) Apply Aquinas’ Natural Law to the issue of abortion. [20]

b) ‘Human law should always be based on Natural Law.’
Evaluate this view. [30]
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Edugas A Level Generic Band Descriptors

Band

Assessment Objective AO1 — Part (a) questions 20 marks
Demonstrate knowledge and understanding of religion and belief, including:
religious, philosophical and/or ethical thought and teaching
influence of beliefs, teachings and practices on individuals, communities and societies
cause and significance of similarities and differences in belief, teaching and practice
approaches to the study of religion and belief.

17-20 marks
Thorough, accurate and relevant knowledge and understanding of religion and belief.
An extensive and relevant response which answers the specific demands of the question set.
The response demonstrates extensive depth and/or breadth. Excellent use of evidence and
examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where appropriate.
Insightful connections are made between the various approaches studied.
An extensive range of views of scholars/schools of thought used accurately and effectively.
Thorough and accurate use of specialist language and vocabulary in context.

13-16 marks
Accurate and relevant knowledge and understanding of religion and belief.
A detailed, relevant response which answers the specific demands of the question set.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Purposeful connections are made between the various approaches studied.
A range of scholarly views/schools of thought used largely accurately and effectively.
Accurate use of specialist language and vocabulary in context.

9-12 marks
Mainly accurate and relevant knowledge and understanding of religion and belief.
A satisfactory response, which generally answers the main demands of the question set.
The response demonstrates depth and/or breadth in some areas. Satisfactory use of evidence and
examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where appropriate.
Sensible connections made between the various approaches studied.
A basic range of scholarly views/schools of thought used.
Mainly accurate use of specialist language and vocabulary in context.

5-8 marks
Limited knowledge and understanding of religion and belief. Basic level of accuracy and relevance.
A basic response, addressing some of the demands of the question set.
The response demonstrates limited depth and/or breadth, including limited use of evidence and
examples.
Some accurate reference made to sacred texts and sources of wisdom, where appropriate.
Makes some basic connections between the various approaches studied.
A limited range of scholarly views/schools of thought used.
Some accurate use of specialist language and vocabulary in context.

N.B.

1-4 marks
Very limited knowledge and understanding of religion and belief. Low level of accuracy and
relevance.
A very limited response, with little attempt to address the question.
The response demonstrates very limited depth and/or breadth.Very limited use of evidence and
examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.
Little or no use of scholarly views/schools of thought.
Very few or no connections made between the various approaches studied.
Some grasp of basic specialist language and vocabulary.

A maximum of 2 marks should be awarded for a response that only demonstrates
‘knowledge in isolation'

No relevant information.
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Band

Assessment Objective AO2 - Part (b) questions 30 marks
Analyse and evaluate aspects of, and approaches to, religion and belief,
including their significance, influence and study.

25-30 marks
Confident critical analysis and perceptive evaluation of the issue.
A response that successfully identifies and thoroughly addresses the issues raised by the
question set.
Thorough, sustained and clear views are given, supported by extensive, detailed reasoning
and/or evidence.
The views of scholars/schools of thought are used extensively, appropriately and in context.
Confident and perceptive analysis of the nature of connections between the various elements of
the approaches studied.
Thorough and accurate use of specialist language and vocabulary in context.

e o o o o

19-24 marks
Purposeful analysis and effective evaluation of the issue.
The main issues raised by the question are identified successfully and addressed.
The views given are clearly supported by detailed reasoning and/or evidence.
Views of scholars/schools of thought are used appropriately and in context.
Purposeful analysis of the nature of connections between the various elements of the
approaches studied.
Accurate use of specialist language and vocabulary in context.

13-18 marks
Satisfactory analysis and relevant evaluation of the issue.
Most of the issues raised by the question are identified successfully and have generally been
addressed.
Most of the views given are satisfactorily supported by reasoning and/or evidence.
Views of scholars/schools of thought are generally used appropriately and in context.
Sensible analysis of the nature of connections between the various elements of the approaches
studied.
Mainly accurate use of specialist language and vocabulary in context.

7-12 marks
Some valid analysis and inconsistent evaluation of the issue.
A limited number of issues raised by the question set are identified and partially addressed.
A basic attempt to justify the views given, but they are only partially supported with reason
and/or evidence.
Basic use of the views of scholars / schools of thought appropriately and in context.
Makes some analysis of the nature of connections between the various elements of the
approaches studied.
Some mainly accurate use of specialist language and vocabulary in context.

e o o o o

1-6 marks
A basic analysis and limited evaluation of the issue.
An attempt has been made to identify and address the issues raised by the question set.
Little attempt to justify a view with reasoning or evidence.
Little or no use of the views of scholars/schools of thought.
Limited analysis of the nature of connections between the various elements of the approaches
studied.
Some use of basic specialist language and vocabulary.

No relevant analysis or evaluation.
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4. (@) Examine J. S. Mill’s development of Utilitarianism with reference to:
(i) higher and lower pleasures
(if) the Harm Principle.

[AO1 20]

Candidates could include some of the following, but other relevant
responses should be credited.

¢ Mill's development of utilitarianism attempts to address the criticisms
levelled at Bentham’s Act Utilitarianism, for example that pleasure
cannot be measured in quantitative terms and that not all pleasures are
equal.

e Mill's version of Utilitarianism seems to equate pleasure with well-being
and living in a good society, ideas derived from Aristotle’s concept of
eudaimonia.

o Therefore in his theory he shifts the emphasis from quantity of pleasure
to quality. Higher pleasures associated with the intellect are worth more
than lower pleasures associated with the body as only human beings
can access these higher pleasures.

o Therefore, while lower pleasures are sometimes necessary for survival,
the principle of utility should be fulfilled through a greater balance of
higher pleasures looking in the broadest sense at the ‘interests of man
as a progressive being’ rather than focusing on the particular pleasures
of individuals.

e Mill argues that it is easy to satisfy those who have never experienced
the higher pleasures, but anyone who has experience of both, will find
the higher pleasures more satisfying in the long term. Focusing on
higher pleasures when considering morality will aid the intellectual
development of all people and therefore lead to greater happiness for
society as a whole.

e Mill's ‘harm principle’ works towards securing the principle of utility in its
broadest sense as it prevents people from seeking pleasure through the
pain of others, while allowing maximum individual freedom to pursue
happiness — ‘the only purpose for which power can be rightfully
exercised over any member of a civilised community, against his will, is
to prevent harm to others’ (On Liberty).

e The principle of utility can be fulfilled through creating ‘rules’ based on
past experience rather than judging each action individually. For
example, the rule ‘do not murder’ would create the greatest overall
happiness in society, even if it may not create happiness in an
individual case. This means that each action does not have to be
judged using the hedonic calculus and makes utilitarianism easier to
apply in practice.

e Mill is seen by many scholars as a ‘weak’ Rule Utilitarian, in that the
rules offer good general guidelines but may be broken in extreme
circumstances to better serve utility. This makes Mill’s version of
Utilitarianism a teleological and deontological hybrid.

This is not a checklist, please remember to credit any valid alternatives.

© WJEC CBAC Ltd. 11





(b)  ‘Pleasure is the only intrinsic good.’

Evaluate this view. [AO2 30]

Candidates could include some of the following, but other relevant
responses should be credited.

e Utilitarianism is based on maximising pleasure and minimising pain,
deriving this from the hedonist approach which values pleasure as the
basis for morality.

e All humans ultimately value pleasure and therefore basing morality on
pleasure means that a moral action is one that fulfils human nature,
suggesting that pleasure is the only intrinsic good.

¢ However, some may argue that this makes humans little better than
swine and is a reductionist view of morality.

¢ In order to counter this view, Mill's focus on the quality rather than the
quantity of pleasure could be considered here. If ‘pleasure’ is
understood in terms of higher, intellectual pleasures, then this could be
seen as intrinsically good as it contributes towards the development of
both the individual and of society along the lines of Aristotle’s concept of
eudaimonia.

¢ Another line of argument is that pleasure is subjective and therefore an
inadequate basis for morality. To develop this argument, alternative
applications of the criteria of the hedonic calculus to a particular issue
could be used.

e Along similar lines, it could be argued that it is impossible to quantify
pleasure in any meaningful way, and that the hedonic calculus does not
really help to objectively measure pleasure in real life situations. It is
hard to argue for something so subjective to be the only intrinsic good.

e Alternatively, it could be claimed that the hedonic calculus does offer a
meaningful way of weighing up which actions are moral and that the
answers derived from this process fit in with our general moral
intuitions, making it a genuine basis for morality.

¢ However, examples could be given in which the action which produces
‘the greatest happiness for the greatest number’ could produce injustice
or immorality.

e It could be argued that basing morality on pleasure will always lead to a
relativist approach to morality, and that actually humans require moral
absolutes to form the true basis for morality.

¢ Candidates may choose to argue that ‘pleasure’ needs to be defined
more clearly or qualified in order to form the basis for morality. They
may argue for an alternative form of utilitarianism such as rule
utilitarianism or preference utilitarianism in making their case.

e Candidates may also choose to argue in favour of one of the other
ethical theories studied: natural law or situation ethics, as forming a
better basis for establishing what, if anything, can be considered as an
intrinsic good.

Overall, candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised.

© WJEC CBAC Ltd. 12
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Sticky Note

It is not necessary to give an outline of Bentham in answer to this question. However, since the question asks for Mill's development of Utilitarianism, the fact that this candidate has chosen to briefly state where Mill's approach has come from is not unreasonable. 



 

Sticky Note

This is highly relevant in showing how Mill developed Utilitarianism and in particular, why he developed higher and lower pleasures. 
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Sticky Note

Some good use of examples and vocabulary. 



 

Sticky Note

A good expression of the Harm Principle and a nice quote from Mill.



 

Sticky Note

Good explanation of qualitative pleasures.
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Sticky Note

This is a good example of a candidate who methodically answers the question that is in front of them. This is a thorough response which focuses on every aspect of the question, including the issue of Mills 'development' of Utilitarianism, because  they ensure that they show how the theory has been adapted to resolve specific problems. Band 5 - 20 marks.



 

Sticky Note

An interesting point on which to make a connection. Hopefully it will be developed further. 
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Sticky Note

A lovely response to an opening argument by challenging a naturalistic approach to Utilitarianism with Moore's open question argument.  
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Sticky Note

This would be a useful point at which to refer back to the question and state how this helps to argue that pleasure is / is not the only intrinsic good. 



 

Sticky Note

Some nice, well supported points. 



 

Sticky Note

Good use of Fletcher as an alternative approach to the question
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Sticky Note

This is some good critical analysis. 



 

Sticky Note

Good use of example
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Sticky Note

An interesting view that would merit being clearly directed back to the question to show the candidate's thinking. 



 

Sticky Note

This is a confident critical analysis and perceptive evaluation of the issues. Band 5 - 30 marks.






















Or,
a) Examine J.S. Mill's development of Utilitarianism with reference to:
(i) higher and lower pleasures
and
(ii) the Harm Principle. [20]

b) ‘Pleasure is the only intrinsic good.’
Evaluate this view. [30]
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Edugas A Level Generic Band Descriptors

Band

Assessment Objective AO1 — Part (a) questions 20 marks
Demonstrate knowledge and understanding of religion and belief, including:
religious, philosophical and/or ethical thought and teaching
influence of beliefs, teachings and practices on individuals, communities and societies
cause and significance of similarities and differences in belief, teaching and practice
approaches to the study of religion and belief.

17-20 marks
Thorough, accurate and relevant knowledge and understanding of religion and belief.
An extensive and relevant response which answers the specific demands of the question set.
The response demonstrates extensive depth and/or breadth. Excellent use of evidence and
examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where appropriate.
Insightful connections are made between the various approaches studied.
An extensive range of views of scholars/schools of thought used accurately and effectively.
Thorough and accurate use of specialist language and vocabulary in context.

13-16 marks
Accurate and relevant knowledge and understanding of religion and belief.
A detailed, relevant response which answers the specific demands of the question set.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Purposeful connections are made between the various approaches studied.
A range of scholarly views/schools of thought used largely accurately and effectively.
Accurate use of specialist language and vocabulary in context.

9-12 marks
Mainly accurate and relevant knowledge and understanding of religion and belief.
A satisfactory response, which generally answers the main demands of the question set.
The response demonstrates depth and/or breadth in some areas. Satisfactory use of evidence and
examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where appropriate.
Sensible connections made between the various approaches studied.
A basic range of scholarly views/schools of thought used.
Mainly accurate use of specialist language and vocabulary in context.

5-8 marks
Limited knowledge and understanding of religion and belief. Basic level of accuracy and relevance.
A basic response, addressing some of the demands of the question set.
The response demonstrates limited depth and/or breadth, including limited use of evidence and
examples.
Some accurate reference made to sacred texts and sources of wisdom, where appropriate.
Makes some basic connections between the various approaches studied.
A limited range of scholarly views/schools of thought used.
Some accurate use of specialist language and vocabulary in context.

N.B.

1-4 marks
Very limited knowledge and understanding of religion and belief. Low level of accuracy and
relevance.
A very limited response, with little attempt to address the question.
The response demonstrates very limited depth and/or breadth.Very limited use of evidence and
examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.
Little or no use of scholarly views/schools of thought.
Very few or no connections made between the various approaches studied.
Some grasp of basic specialist language and vocabulary.

A maximum of 2 marks should be awarded for a response that only demonstrates
‘knowledge in isolation'

No relevant information.

© WJEC CBAC Ltd. 3






Band

Assessment Objective AO2 - Part (b) questions 30 marks
Analyse and evaluate aspects of, and approaches to, religion and belief,
including their significance, influence and study.

25-30 marks
Confident critical analysis and perceptive evaluation of the issue.
A response that successfully identifies and thoroughly addresses the issues raised by the
question set.
Thorough, sustained and clear views are given, supported by extensive, detailed reasoning
and/or evidence.
The views of scholars/schools of thought are used extensively, appropriately and in context.
Confident and perceptive analysis of the nature of connections between the various elements of
the approaches studied.
Thorough and accurate use of specialist language and vocabulary in context.

e o o o o

19-24 marks
Purposeful analysis and effective evaluation of the issue.
The main issues raised by the question are identified successfully and addressed.
The views given are clearly supported by detailed reasoning and/or evidence.
Views of scholars/schools of thought are used appropriately and in context.
Purposeful analysis of the nature of connections between the various elements of the
approaches studied.
Accurate use of specialist language and vocabulary in context.

13-18 marks
Satisfactory analysis and relevant evaluation of the issue.
Most of the issues raised by the question are identified successfully and have generally been
addressed.
Most of the views given are satisfactorily supported by reasoning and/or evidence.
Views of scholars/schools of thought are generally used appropriately and in context.
Sensible analysis of the nature of connections between the various elements of the approaches
studied.
Mainly accurate use of specialist language and vocabulary in context.

7-12 marks
Some valid analysis and inconsistent evaluation of the issue.
A limited number of issues raised by the question set are identified and partially addressed.
A basic attempt to justify the views given, but they are only partially supported with reason
and/or evidence.
Basic use of the views of scholars / schools of thought appropriately and in context.
Makes some analysis of the nature of connections between the various elements of the
approaches studied.
Some mainly accurate use of specialist language and vocabulary in context.

e o o o o

1-6 marks
A basic analysis and limited evaluation of the issue.
An attempt has been made to identify and address the issues raised by the question set.
Little attempt to justify a view with reasoning or evidence.
Little or no use of the views of scholars/schools of thought.
Limited analysis of the nature of connections between the various elements of the approaches
studied.
Some use of basic specialist language and vocabulary.

No relevant analysis or evaluation.
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5. (a) Explain soft determinism.
[AO1 20]

Candidates could include some of the following, but other relevant
responses should be credited.

e Soft determinism is a term coined by William James to describe claims
that all human actions are determined by external factors but that moral
choice can still be genuine if humans have not been forced to act in a
particular way.

e Humans are free to act in accordance with their nature, even though
their nature is determined by other factors.

e This means that ethical discussions are still valuable and humans can
be held responsible for their moral decisions in most circumstances.

e Hobbes makes the distinction between internal causes and external
causes, arguing that actions determined solely by internal causes allow
for free moral choice.

¢ Internal causes are individual wishes or desires which cause a person
to act in a particular way and which may be determined by causation (or
conditioning or heredity in modern presentations of the argument.)

o External causes are factors which may cause a person to act against
their own wishes or desires through some form of compulsion.

e This means that humans can be seen as morally responsible when acts
are determined solely by internal causes. Here soft determinism differs
from hard determinism.

o A.J.Ayer looked at this issue in terms of the meaning of the language
used to discuss moral decision making.

e He noted that, when a situation is determined by an internal cause, we
would say that the behaviour has been caused. When it is determined
by an external cause we use the word forced. He uses the example of a
person walking across a room to illustrate the difference.

e This clearly illustrates the linguistic different between classical soft
determinism and hard determinism and indicates that people make this
distinction when considering moral responsibility — humans are
determined to act in certain ways by their nature but make free choices
when they are not prevented from acting in accordance with their
nature.

e Soft determinism therefore involves commitment to a particular view of
freedom — that humans are free if they are not prevented from acting in
the way they are determined to act.

e Modern versions of soft determinism focus on the feeling of freedom of
choice and the importance to humans of moral responsibility. For
example, Peter Strawson argues that, in practical terms, no matter how
much proof we find of determinism, this will not stop humans believing
that people are responsible for their moral actions. This makes moral
responsibility a real fact of human life which should be taken seriously.
If we have been determined, we have been determined to possess the
feeling of free choice and moral responsibility.

This is not a checklist, please remember to credit any valid alternatives.
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(b)  ‘The strengths of soft determinism do not outweigh its weaknesses.’

Evaluate this view. [AO2 30]

Candidates could include some of the following, but other relevant
responses should be credited.

e Soft determinism may be seen as convincing as is solves the issue of
human moral responsibility without denying that all actions have causes.

e The idea that there are determining factors that influence our decisions, but
ultimately we have still made free choices unless we have been forced to
act in a certain way, seems more compatible with how humans understand
the world. It allows us to separate internal and external causes in a logical
way (Hobbes) and fits in with the way in which humans genuinely feel
(P.F.Strawson).

e This is positive as the determinist position is strongly supported by
scientific understanding of human development and by philosophical ideas
of causation. The concept of metaphysical free will has increasingly little
support, yet the feeling of freedom common to most humans is undeniable.

e However, many hard determinists would argue that this feeling is nothing
more than an illusion. Soft determinism simply perpetuates the illusion of
free will when it should be discarded and determinism fully accepted.

e The argument in favour of soft determinism could be developed using
Ayer’s observation that, even if we were to accept that we are not entirely
free agents, through whichever version of determinism can be best proven,
‘it would not follow that the idea of freedom would go by the board.’
Instead, he argues, we need to view our unforced choices as free in some
way so that conventional legal and moral frameworks continue to make
sense. This is a key strength for soft determinism as it gives meaning to
our understanding of morality.

e Candidates may, however, argue that the tenets of soft determinism
constitute an unacceptable compromise of the ‘facts’ of hard determinism
and, as such, are not more convincing. The soft-determinist insistence on
moral responsibility is false as humans cannot be responsible for actions
over which they have no control. The implications of this for human society
may be discussed.

e One other weakness of soft determinism is that it insists on a particular
view of freedom which is at odds with the common understanding of free
will. Most people see free will as the ability to choose what they want
without being influenced by other factors. Only then would humans be
morally responsible for their actions.

¢ The view of free moral choice being confined to freedom to act in a
determined way without being prevented from doing so is a strange notion
of freedom and is seen as being at odds with moral responsibility.

¢ However, supporters of soft determinism would question whether this
‘common understanding’ of free will is in any way coherent. Scholars such
as Vardy argue that there are so many complicated determining factors
which govern human behaviour, that we can never convincingly state that
actions are free. Soft determinism’s strength lies in its ability to reconcile
the facts of determinism with the feelings of freedom which give human life
meaning.

Overall, candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised

A120U30-1 EDUQAS GCE A Level Religious Studies — Component 3 MS S22/CB
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Sticky Note

Accurate use of terminology (Compatibilism) Could be even better if this was then further developed. 



 

Sticky Note

Error with scholar's name. 



 

Sticky Note

An understanding is shown that a difference is made between internal and external causes, but there is no clear understanding of what this means. 



 

Sticky Note

The example is loosely based upon an example by Hobbes, but internal cause is not fully understood. 



 

Sticky Note

This statement from Ayer is accurate. 



 

Sticky Note

Ayer's contrast between caused and forced acts is being referred to and so there is an accurate reference to Ayer's view that free will is not in contrast with causation. 



 

Sticky Note

This last statement is an important point. It would be good to develop it further. 



 

Sticky Note

This appears to be an attempt to reference the liberty of spontaneity that is required by compatibilists for free will. However, the example does not clearly demonstrate this.  



 

Sticky Note

This is a satisfactory response in that it generally answers the main demands of the question set. There is an attempt to explain Soft Determinism and the candidate  is able to use some accurate vocabulary. Band 3 - 10 marks.
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Sticky Note

It is a common idea that many candidates have that one might 'follow' the ideas of hard determinism or soft determinism. This becomes an issue when there is then a set of arguments that treat these attempts to describe our status as normative ethical theories. 



 

Sticky Note

This is a reasonable argument for the truth of hard determinism. It may be relevant to the question, but is rather general. 



 

Sticky Note

The final statement is unsupported, but the rest of the paragraph gives some good lines of argument in support of a compatibilist approach. 
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Sticky Note

This is a coherent argument that is backed up by evidence and reasoning. 



 

Sticky Note

No further reasoning is given to support the conclusion. 



 

Sticky Note

A basic idea presented that suggests that any views we possess about free will were predetermined, but not really supported by any coherent reasoning. 



 

Sticky Note

Relevant evaluation of the issues for the most part. The question has been generally addressed and some appropriate evidence has been given. Band 3 - 15 marks.






















Or,

a) Explain soft determinism. [20]

b) ‘The strengths of soft determinism do not outweigh its weaknesses.’
Evaluate this view. [30]



















































































































































































































































































































































































































































































